
Subject: Re: Regarding Match of Track Id
Posted by StefanoSpataro on Tue, 29 Oct 2013 16:23:32 GMT
View Forum Message <> Reply to Message

If you take a look into this macro, you can see you forgot the event loop on the tree:

  Int_t nEntries =  t->GetEntriesFast();
  for (Int_t j=0; j< nEntries; j++)
    {
      t->GetEntry(j);

      for (Int_t k=0; k<ftof_array->GetEntriesFast(); k++)
        {
          PndFtofPoint* tofpoint = (PndFtofPoint*)ftof_array->At(k);
           cout<<"This is Ftof entry number "<< k<<endl;
        }
    }
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